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A LEVEL MATHS

WOHKING AT D/E

R 12x%*+4x3 +8x

@) Ruﬂly 81mp11fy "

can be written as ax + b

+4
(2) Show that ———~
x+2

where a and b are integers to be found.

xZ—x—-12

(3) Show that 2 simplifies to x + 3

WORKING AT B/C

6x2+13x42

(1) Fully simplify )

6x2
(2) Show that e

integer to be found.

A
. simplified to > where A is an

2+x-15 x+3

(3) Alan simplifies the fraction 2— to—
2x2-13x+20  x—4

(a) Is he correct? You give a reason.
(b) Beryl then suggests that he can simplify further
by cancelling the x terms to give _14. Is Beryl right?

You must give a reason for your answer.

WORKING AT A*/A

(1) Fully simplify

(2) Fully simplify

(3) Show that
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